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vi HE7| A[ZH8}7)

HOlE 2t8 &7

set term=vt100 // {022 vt1l00e 2 47
tset // HOl'E8 =7z}

2 20f AlX

Vi // Vi A|EE
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ool B2 Aese g ez F
v insert, $1TY 71 M2] §1%(0] 2AIE Lol

» | :insert, ZAA 7 Q= =(line)2| TH &

> o+ append, K| 71 M §IX/2| T} 240 2X1E %7}
> A : append, 7{ A7} Rl= Ei(line)2| TH F S

=7t

» o : open line, AX| 2| = Ct20| M2
> O: open line, X0 & 0| M2
> U B2 Metol = 5o AS0| oi

—_ -

T Ho



22 ool 42
HETHOO|HE Ngotl =
»:wq // write and quit

MoK &1, 1 =

>l // quit
[Tip] o:|XH II-O-I 7<O| LH_Q_O‘ X—'II—
> :w // write
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B3 REOA = EHP| 0] S (1)
AL HIZES BAISED, HME SR Fo| A 22

0: HME SiM| Eo| HE22 0|5
$: HAME X =2Q| EL=E O|=

%: ®ES 0| F= 7|2 22l5t7|

+: HME L2 22 NS 2 0l

- HME O] 2O HZF22E O|F
<Return>: M E CIS =0 SO =2 0| =
[Tip] Z=E10|A S2 S22 ({)0 L Sot= &2

= L =
HINE XX ot 8% % BHE 0|8




%"E B EoM = TS 01S(2)

: SX EO| n B Y E (nE =X
H : 91*15 tHYO HS(Home) 22 0|5
M: AN E 2tH 0| S{HMiddle) == 0| S
L: HAXNE 2tHY2| OrX|H(last) =22 O] 5
nH: 2tHYC| N5 22FEHnE BR2 0|5
nL: IHMO| OIX|BEF =282 Hn= Y2 Ol



B3 ZEOA = TR 0] 5(3)

gg: LS| A =2 0| =(Go)
G: U OtX|% £ 2 0|5
ngg:n AW == 0|
nG:nHR| =2 O|=

n:n HR =2 0| =

[Tip] &KX £ 20 ‘—'Ol-E L2THRN =2
O|= ( 20 + <Return> |')




B3 ZEO0j|AM T TR 015 (1)

w: HME CFE B (word) O] A 2 X2
Ol =

b : HAE O[M(back) THO{ 2| AW =Xt 2
Ol =

e: HANZE Ltz OS] E(end) A2 O|F

£2,1 S TEHS ZAISHL, $ XY THofo
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B3 ZEOM =2HEH TH9 0 S

<Ctrl>F : CtZ(Forward) 2tHO = 0|F

<Ctrl>B : ®(Backward) 2tHO £ 0| =

<Ctrl>D : Ht% 1M 2 (Down)2 £ 0|

<Ctrl>U : Ht% 2@ 2|(Up)E O|=

<Ctrl>E : HAM = 2X X ACH =, 2tHTE oF =N
?E Ol=

<Ctrl>Y : HAME= &3 KX A2, sHHOE SF M
Ol2fi2 O|=

Tip] <Ctrl>G : SX| HESID U= ZA Q| AE| EA|
Tip] <Ctrl>L : 2™ X HEA]




[1: ot Xot= 01 2AE &
> [a-z] : HU}EI A F X o F B 277X Z T &
» [0-9a-c]: 0,1,2,3,4,5,6,7,8,9,0,b,c & [ &
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/abe : XY 2| X|O| M F| 2 abe &7 \
2abc : AKX & X|O| A L2 E abec AF7|
n: F| 2 EHO| 27| HE=
N: QFO 2 Chof &H7| Hi
/512 B0l 20) b1
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yy : @8 & K| = Ab(yank)
nyy : SdX & O|SI2 n7l 29|

yw : SHEHO] S A}

ynw : n/j
y$:
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y/abc : AKX 2 K| 0| Al abc?} L= [{7IFX] S A}



Xl £71(1)

dnw : n7l| S| EFO{ ALK

d$ : x| A K[A A =2 ETHK]| A A

D: XY R X[A A =2 ETHX] A A

do: Sl [X[0A =2 M7 &K
d*: XY Y KX[0[A =2 HS7HX| 4K
dG : K| J{X[U[A ZA ETHA| 2K
lined : line= = AMK||

linel, line2d : line1 0| A line27]} K| ALK
»:30, 35d : 30HR]| =FE 35HK]| = 77HA| &5



X $71(2)

dd: 21X = T 4K
ndd : n7f 2| = ALK
»10dd : 10 = AHA|
dw : 1Y THO] 21K
dnw : n/f] EFO{ AKX
= A A K| = insert 2 E

e

AN = insert

S :
S:

oy



K| %71(3)

d/abc : abc EFO{ 7} L= Y77} K| K| 27|
d/Mabc: 2| M Q| abc THO{ 7} LI=
[ 77 K| K| L7
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p: HINO| MY &l LIE(SAt =2 HA)=



El&c]

o SHH E 2817 (undo)
0 EHATER| O] 27

nu :



HH 7|

r: = At H 7| (replace)
nr: n7ff =2 X} HHE7
cc: ot = HF7|(change)

ncc : n/}O| =

HH 7|

cw : ©F £HO{ HHL Y|

cnw : n/l] EFO{ H

ce: =X

C$ AX 2K

HH 7|
Q|opal o £Hof B 7|
OlAM & E7HX| BHL7|

C: &M ?IX|0AM = 27K B

cO(c") : TR}

AKX D = HTHA| B
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) (FOl) (52 2IX)

41,12 emd 13 : 11 \A‘l 1277} K| emd =2l S}10] 13
»:1,10 co 50 : 1=EE 10=7/tX| = AHcopy)S}t ]
500 %O|7|
»:30, 50 d : 30=E K 50=7/I K| AtK||(delete)

»:100,200 m 50 : 100= 5 E| 200& 7} K| 50= =2
O| & (move)




Z= )\I—X—”

> /GbC/ +nd : abc 7|' %O'l )\AE §§$E1 ‘II:’lE n 7H =
Al—X—”

»:/abc/,/xyz/d :abc 7} S /U= =FH, xyz 7t
SO /U= STHA| 4|

>:,/abc/ m 10 : A EFH abc?l SHRUE
EHX|E 108 =2 0|



T8¢t ex (3

o
A BR(9) =8
»:g/abc: abcZ} L=l OX|2 =2 0| S
M

>:g/abc/ p: LY XM abe?t U= = =5
>:g/abc/ nu: It T 0| M abe?Zt U= 2

S 2 &4
»:60,100 g/abc/ p : 60~100= ALO| 0| A abe7}

L 2K =
A== =H

>:g/abc/d : A TN M abe?ZF U= = A A



25t ex HE(4)

HHHS 2 =578 tho| Hi 47|
11,12 s/old /new/g : 110|| A] 127]} K| oldS new= HfH7|
:g/abc/ s/old/new/qg : abc?7t Y= B= =0 A old=
new= H}L7|
»:1,5s/2| =2 /linux/gec: 1S5 E 5 K| ElA'S
linux’ 2 2F9l(check)S}H A HIL 7|
> g/ Al /s/I0 L /file/g: '"BANZF U= SO IS
'file’ 2 HF3L 7|
> :% s/HIH /buffer/g I THN| KA, HIH = 'buffer =
HF 7|
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enters 2 EHOIH viZ =)
»:l s
»:l gcc test.c
>:l./a.out



:set number 2lHO| = H HO|7]
:set nonumber = Hlo HO|X| &7
:set autoindent A& = 0]AA 7|

:set cindent CAHO AEY =0{AAT]

:syntax enable

:syntax clear

number Q0| = tabstop(E {F4), filetype(L} &
=) cindent (M1 7| dAhE



7|El B

ERGEA PN BSE=
»=G

= (0 27|)

G (K 99

- O 1

»=100G (S1X SEE{ 100HR] 7K K& =)



iy

vis 0|85 100z MO FA(KH7| A7 A

047}, 7tR THAL ) &HA A

A7 /HERLT| /2 ALK 2 7] /5 S 2] 7] /R A
HFT17| Z+2F 28

2b CHA HELY| /K| 97 /5| S 2] 7| /R A

ST 2 ThY KA

0Ol BILEE 31510 I1Y AT X71510] 32

147K N|= S oraSE




